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L* =49, *LARJAIDuUL standard lig stnessl*
[* he=Yw - nc=100, /n
Iiy
'y 1
I* L ABINDUL =IN(A 17+A2nY)/(A2nAgn) 1 (Ynd/100<Y<=Yn)
ILABJNDul_ln(A1n+A2ux)/(A2qA0n 1(x=Y/Yy)
1 (3,6)=320/* ,(18)=748 " (50)=14164

:*90—1163 14, A= 0”666 A~Q,1044, ¢=1,00
*1g=747,51, A=0,f 17, A,;=0,0058
18~ n_ n—
= = = licati
I* 3’y328,76,|*u—7/41i,51 =18 : rae?p ication

nge
I =1

xN=0,2 Xw=5

LABJINDul
tristimulus value difference
Yo=Y - nc=100,
I* L ABINDuL =IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Yoo)
I* L ABINDuL =IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY=Agn(A1r+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY,¢=0,08, A 0,017, 4,700058
dY3,6=0,02 Y,=18, dY=0,08 o
"y

I* =748 0Y,=0,08 dY,/Y,=0,0044

log (AY/Y) LABJINDu1

_ tristimulus value sensitivity
S=@vr) YotV nc=100
1* L ABINDUL =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDuL =IN(A 17+ A2 (A2 Aon) - (X=YTYy)
AYY=Ag(Arr+AonY)Y=Agn(Ag A )Y
(dY/Y,=0,0039, A,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g=C 0044, A=0,017, A4,=0,0058
(dY/Y) =0,u70 Y,=18, dY=0,08

N application
log(dY/Y)=-2,34 mu——O S

LABJINDul
tristimulus value contrast
Yoc=Yw nc=100

I* L ABINDUL =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)

L aganpu1 =IN(A 10+ A2X)/ (A Aon)  (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

Iog(YldY)=2 34m=013- = "

(VIdY)=250,4¢, 4, o 6666, %_o 1074280
(Y/dY)g=222,40, /-1: 0,017, AZnto oosﬁpﬁca‘"’”
(Y/dY); 42,55 Y,=18, dY=0,08

xn=0,2 :xW:5

LABJNDu1 relative standard lightnessl*/I* ,
I Yoc=Yw - nc=100,

¥ aBINDuL =IN(A 17+ A2 Y (A2nAon)  (Ynd/100<Y<=Y,o)
1* LaINDu =IN(A 10+ A X) (Ao Aon)  (X=YIY)
I* (3,6)=329 % (18)=748 I* ,,(90)=1164

* ggfI* =1,55, Ap=0,6666, A,=0,1044, ¢=1,00

I* 1g/1*=1,00, A,;=0,017, A4=0,0058

I*3,¢1* 20,43, =747 51 Y=18 . >

I =1, m=0,79 .
Lry=A0. = application
range

XN=0,2 Xw=5

log(AY/AY,) LABJINDu1 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
1L ABINDUL =IN(A 17+A2Y)/(A2rAon) - (Ynd/100<Y<=Yoo)
1L ABINDU1 =IN(A 10+ A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYo/dY,=4,43, Ay=0,6666, A,=0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A;=0,0058
dY3 ¢dY,=0,31 Y,=18, dY;=0,08 2
p
0§ dY,/Y,=0,0044 ,/’/

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDu1 relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
11 aBINDUL =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUL=IN(A 17 +A2X) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y)of(dY7.\=0,88, Ay,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A=0,017, A=0,0058
@YYy g(dY/YV)=1,24 Y, =18, dY=0,08

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
* =748 dY,=0,08 dY,/Y,=0,0044 ?g’npg','ga""”
%=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDu1 relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDUL =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDUL =IN(A 17 +A2X) (A2 Aon)  (X=YTYL)
(YIYY(YIY) =X (At AN (A 15+A2y)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, A=0,0058
(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY=0,08
log[(Y/dYY(Y/dY),]=0, m,=0,13
=748 dY,=0,08 Y,/dY =22 ~

/ 1 application
1 range

Iy =1
il
XN=0,2 Xw=5

L* =49, 748Dul standard lig stnessL*

L* h=L*w - nc=100, /’/l
I
oy
L* LABJNDu1—'"(A1n+A2nY)/(A2nA'0n)| (Yad/100<Y<=Y,o)
L* LABJNDul_In(A1n+A2ux)/(A2p on)1 (x=Y/Y,)
L*(3,6)=329L* ,(18)=748, L* 1(90)k1164

1
L*gq=1163,74, A,=0'3666, A,=0,1044, ¢=1,00
L*16=747,51, A70/ )17, A,~0,0058 - = -
= = = application
L#3,6=328.76.L4,=7 47,51 Y=18 [ rg’rﬁ’ge

7/ 1x,=1

XxN=0,2 Xw=5

CEU11-1A
logAY) LABJINDu1

AY tristimulus value difference
Y=L w nc=100,
L*Laganpur =IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpur =IN(A 1t A2 )/ (A2iAon)  (X=YTYY)
dY=Agn(A1r+AgnY)=Aon(A1+AgX), See CIE 230:2019
dYgg=0,35, Ayr=0,6666, A4,=0,1044, ¢=1,00
dY;5=0,08, A 70,017, 4,=0,0058
dY3,6=0,02 Y,=18, dY=0,08 )

P

L* ;=748 dY,=0,08 dY,/Y,=0, 0044

CEU11-3A
log (AY/Y) LABJINDu1

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

L*Laganpur =IN(A1ntA2nY)/(A2nAon) - (Yac/100<Y<=Yyo)
L*Laganpur =IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
AYIY=Por(A iAo Y)Y =Ag (A it AgX)/Y

(dY/Y}=0,0039, A,=0,6666, A4,~0,1044, ¢=1,00
(dY/Y)g=0,0044, A =0,017, A,=0,0058
(dY/Y} 0,070 Y,=18, dY=0,08

NG application
log(dY/Y)F-2,34 m=-0,1o> ~ _
L* =748 dY,=0,08 dY,/Y,=0, OO44I
=l

XN=0,2 Xw=5

CEUL1-5A
log (Y/AY) LABJINDul

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L*Laganpur =IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L* LABINDu1=IN(A 15+A2 ) (A2 Aon) - (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

Iog(YldY)=2 34 m=013- = ~

(Y/dY}o=250,4¢, ﬁb o 6666, %_o 1074, 85
(Y/dY)g=222,40, /-1: 0,017, AZnto oosﬁpﬁca‘"’”
(Y/dY} 6=142,55 Y,=18, dY=0,08

XN=0,2

CEU11-7A
CEU11-7N

TUB-test chart CEU1; LABINDUT*(Y) & L*(Y), Ya=(Y&

)W
Lightness, sensitivity and contrasty#0,6666, A,=0,017, Agn:?),0058, A,~0,104

LABJNDu1 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L*LaganDu1 =IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpu1 =IN(A 1ntA2 ) (A2iAon) - (X=YTYy)
L* (3,6)=329 L* ,(18)=748L* (90)=1164
L*gy/L* =1,55, A=0,6666, A,~0,1044, ¢=1,00
L* 1g/L*,=1,00, Ap=0,017, A470,0058
L*3 gL* 20,43, =747,51 {18
L*/L* =1, m,=0,79
L =49, L+ =748 i application
. ange

=1

Xw=5

CEUL1-2A
log(AY/AY,) LABJINDu1 relative

tristimulus value difference

AYIAY, Ve irl
L*Laganpu1 =IN(A1n+ A2 Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpu1 =IN(A 1ntA20) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYoy/dY,=4,43, Ay=0,6666, A,=0,1044, ¢=1,00

dY,9dY,=1,00, A;y=0,017, A;=0,0058

dY;,¢dY,=0,31 Y,=18, d\=0,08 P

y

08 dY,/Yy 00044 /
application
nge

=1

CEUL1-4A
log [(AY/Y) | (AYIY),] LABJINDu1 relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*Laganpu1 =IN(A 1n+A2Y)(A2rAon) - (Yo 100<Y<=Yyo)
L aganpu1 =IN(A 1nt A2 ) (A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(dY/Y}o(dY/Y)=0,88, Ay,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=.00, A=0,017, A=0,0058
@YYy g(dY/YV)=1,28 Y, =18, dY=0,08

log[(dY/YY(dY/Y),]=0, m;=-0,13 il
L* =748 dY,=0,08 dY,/Y,=0,0044
Ix,=1

XNn=0,2 Xw=5

CEUL1-6A
log [(Y/AY) I (YIAY),] LABJINDu1 relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*Laganpu =IN(A1n+ A2 ) (A2rAon) - (Yad100<Y<=Yyo)

L1 aganpu1 =IN(A 1ntA2 ) (A2uAon) - (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,=0,1044, ¢=1,00)
(Y/dY)g/(Y/dY)=1,00, A=0,017, A=0,0058
(Y/dY}(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

CEU11-8A

, cx=1,00, with more data
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